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Half Yearly Examination - 2023
Sub General Science

Class : X
Time : 3 hrs. ' Full Marks : 90

The figures in the margin indicate full marks for the question.

SECTION - A

1. For each question given below, four answers are given.

Out of four only one answer is correct. Select the correct
answer : 1x20=20 .

weig Aol 2% BIRGIE Ted fral S| pIRkIN foos®
g GOIR W7 TeS | w& TeICH! IR Tfeedl ¢ -
) Fe0,+2Al— Al,O,+2F¢
The above reaction is an example of a
o eoRE R ant SR
] ' a) Combination reaction (451 W ﬁf‘ﬂﬁ)
b) Double d15p1aggnent reaction

(<ol T SreoTRe RfiEaE)
¢) Decomposition reaction (5! RCaGH ﬁf_ﬁﬁ)

) Displacement reaction (ot TP i)
ii) A solution reacts with crushed egg shells to give a
| gas that turns lime water milky. The. solution
contains-

aﬁ@@@wﬁmaﬁh@wtﬂrﬁm
PR (o= TeHAH T | OIGIA pAAR Calotl IR |
TS Wz _

a) NaCl b) HCI . c¢) LiCl d)KCl
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)

()

The number of periods and groups in modern
Periodic Table-

wigfe sifige ofme ot & w31 A0l
- . ‘

a)68  b)86 c) 7,18 d) 18,7
The enzyme contained by our saliva is called.
SN IS 4P BB (4T @Rl 2 Z
a) Amylase (92=e) b) Lipase (ﬁﬁt"lﬁ) '

¢) Trypsin (fGof65)  d) Pepsin (Cﬁ“‘[ﬁﬂ)

The part of the brain responsible for the sensatlon
of hunger and thirst is

core ot Phle A el iy w@m |
LA - |
a) Fore bram:__(aaﬁvg)-

= .

~ b) Mid brain (i =)
- ¢) Hind brain (sple %)

Vi)

d) Hypothalamus (e -

Which pair of sex chromosomes represents a girl child-

W (PRER W SAEE o @R e pr-

(@) XY (b) XX
©) YY (€) None of these (458 7=F)
Where should an object be placed in front of aconvex
lens to get a real image of the size of the object?
TR Tl SIRPIR e 2SR 21T X (T TRREo!
TG I NS (I o R iR e
a) Atthe principal focus of the lens

R Y TS
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b) At twice the focal length
TR (TH1F 19 [HTO
¢) Atinfinity (STIN®)
d) Between optical centre and principal focus.
ERE TEIREE W Y FIE Moo
viii) For a healthy eye, the far point of eye is situated
at- '
TR OFF AW 5T IR A 5P #f41-
(2) 25cm (25 .f)  (b) 100cm (100 G.f.)
 (c) Infinity (SPTIS®)  (d) 100km (100 .5.)
ix) Which of the following is not an example of bio-
~ mass energy source?
oS mﬂm@amﬁﬁw@aﬁawqm‘ﬂ
(a) Wood (3) - .(b) Coal (@ﬁﬂ)
(c) Gobar gas (CW (%) =
(d) Nuclear Energy (G =)
xi):“' “When calcium oxide reacts vigorously with water,
produces-
AR SRAIRCE ANIE Glee SIel [ ?151%
T -

(a) Ca(OH), (b) CaOH, (c) Ca OH
(d) CaO(OH), and H,0 (Ca O(OH), ¥ H,0)
“xi) A solution turns blue litmus red. Its pH is likely to be
@bl T2 et bz 8t TRzl 2 pH 29 AlE-
o b)) 7  c)S5d)y 14
xii) Which of the following is not a correct statement
about the trends when going from left to right




—

(4)

across the periods of the Periodic table?

sfige iR sffaRe dewrm At GiiwEE
eSOt ARTET 24T @A TR o
BRI (00! 97 O 727 ?

(a) The elements become less metalic in nature

GTETRIN I Gegys 02 #AE |

(b) The number of valence electrons increases
QST LGS IR AT |

(c) The atom lose thier valence electrons more easﬂy -
TR PiRes Qe i‘@@ﬂ wﬁas w
R | _

(d) The oxides become more. acidic
SHRER @R wfEe @ 9w

Anaerobic respiration takes place in

SRS R FAOS =7 _

(a) Mitochondria (‘5{133’?15 &)

(b) Nucleous (REFaIR)

(c) Chloroplast (F'928®)

(d) Cytoplasm (3T &FT9)

Which of the following disease is caused due to

the insufficient secretion of thyroxine hofmone" =

©oR (PN @ﬁﬁfiﬁﬁﬂm‘a@m “ifore

o @IRRE AE e

() Beriberi (@R@ER)

(b) Goiter (55 ca1%)

(c) Diabetes (Titza{6R)

(d) None of the above (\@*59 Wb 723)
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xv) In evo]utlonary terms, we have more in common with-
R @S e GG AYRTSIE TCS-
(a) A chinese school boy (GE Bl FeTl ”E)
(b) A chimpanzee (0! fo=rligh)
() A spider (45l 5=4)
_(d) A bacteria (@51 G@3=a)
xvi) Which of the following lenses would you perfer to
use while reading very small letters?
oS 7 A A B AR TR
. IR IR ol _
(a) A convex lens of focal length 50cm
50cm THZ (WS Ted (FTHR
(b) A convex lens of focal length Scm
Scm FHR W3] B R
(c) A concave lens of focal length 50cm
 50cm T (FHS G0 (FTR
(d) A concave lens of focal length Sem
| Scm THR (I SRGE (TR
xvii) The colour of the sky from the surface of the moon
bR [ SFEE -
() Blue (Fie) (b Violet ()
() Black (Fe)  (d) Red (%81)
xviif) Good source of energy would be one-
& I B GRS 29
(a) Be easily accessible (T(&1E ©oeT)
(b) Be easy to store (3 AZSAI)

P.T.0.
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(c) Be easy to transport (ﬂﬁ@‘ﬂ RSN
(d) All of above. (‘859 HBIR(P20!)

xix) Which is correct in case of power of a lens.
R TN CFAS (FIC0! &%
@P== ®P=s @P=— @P=f

xx) The kidneys in human beings are a part of the

- system for- | |
SIZA 3@ 10! (FIACH! ST T
(a) Nutrition (#R%lf8) (b) Respiration (W)
() Excretion ((591) (d) Transportation (%{<3%)
_ - SECTION -B
2. Answer the following questions : | IX25=25
' SER PRI B ol o < | '

() What is combination réélctidn‘? v
RAES Rfem e @

(i) What is the chemical formula of Plaster of Pans" iz
2B SR (AR IR TS 2

i) Write one element with filled outmost shells.
oAfsyef IR T 2 Bt N A B |

iv) What is alveoli ? IR 2 -

v) What is reflex arc ? 21 4 52

vi) What is a dominant charaéte_r ?

vii) Why concave mirror is used in solar furnace ?

CTIRSISTS SEws WiTail 3 73R 9 T2

s
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Xv)

Xvi)

OB
@)

. viii) What is the measurement of a human being has

@&

horizontal field of view with two eyes ?

7Bl 53 AR NI STGHe Fermad e AR
fewme

Define hot springs ?

SR SR B {2

Write an example with chemical equation of thermal
decomposition.

o Rcarem Rieram Sarzad fr |

Name a gas which is used to prevent the chips
from getting oxidised.

Boiba TRl TR AR IR A (5 A
feran

State Modem Periodic law.

wigfRe #idige @t e

What was a limitation of Newland's Law of
Octaves? _

oo WBs a1 AREel & i ?

Use Mendeleev's Periodic Table to predict the
formula for oxides of the following elements: "K"
and "Al"

CTIETPZBIR SRS KPS e 41| "K" &% "Al"
What causes cramps in our muscles?

iRl o (e PR @R Rd e
Write the use of Feedback Mechanisms.

fZre-7e Amod bl RS ferl |

P.T.0O.
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xvi)) How many pairs of sex chromosomes are contained
by the human beings?

TR (RN FRel @ 5er s 32 a2

xviii) What is speciation? (2Gifesd f2)

xix) Why are traits acquired in the life time of an
individual not inherited ? o
R GRE GRS WG 74 RAREE O
SReRefete <RSI (5 erIfRs 72 ?

xx) What is heredity ? (32491 SIS (=1 ?)

xxi) What are two ways to know how old the fossils are?

Srar 2T e SR o1 51 e T R 7
xxil) What is refractive Index? (SN ﬁW) |
xxiii) How can-the defect of myopia be corrected ?

T o R Aeied (oM R AR

xxiv) Define the angle of deviation ?
pfs @ 2

xxv) What do you understand by cataract ?

53 3 = o[l I gy

~ SECTION - C
3.  What do you mean by a precipitation reaction? EXpIain '
by giving examples. i 2
ST e e 6 e e Snirad @ i 40
4. How could the Modern Periodic Table remove various _

anomalies of Mandeleev's periodic Table? 2

wigfe 44i9E e crefer «/ige wiFme a5

WeiRRER e 79 sk '
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©
Explain how metalic character varies in periodic table?
#fiqe CIFP® @ godn ol AT 7 AT
IR 1 |

How are water and minerals transported in plants?
Bfgre “it o 4 smief e sifaifze =2

What is nephron? Write its function.

o e T I

What are the difference between reflex action and
walking? |

RSl TRl W% (RISFIR Sers A<y (2

How is the movement of leaves of the sensitive plant
different from the movement of a shoot towards light?

- RS T AT be ARG Fe FIE SN

12.

13.

CAIRST firefo oIS =1 ~ARGAEE Fore & A wieRe

. How is the sex of the child determined in human beings?

TR ST foel Fdiee v 341 =302

. Draw the ray diagram to show how Myopia is

correcred?

AeoqRawer Aeiim (R IRDa S 1 |

Power of a lens is +2D. Find the focal length of the
lens. What is the nature of the lens.

(PG <O (FIRS ol +2D GRS TR () [efd
| RO ofS RFr

Write the two laws of Refraction of light.

Afesieig 9@ 7! o |

P.T:0%
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15.

16.

17.

18.

O

(10) @

Light enters from air to glass having refractive Index
1.5. What is the speed of light in the glass ?

(IR PRI *[ 1.5 aAfosReicrs FI6 Mt A
IR FI6S (oi1zaa T R 2'q

What is olfactory indicators? Give one example.
Y 95 0 B Swizel fat |

How do Acids and Bases react with each other? Explain
with example.

GfRT W% WS AT Gie & e [ w@e
TR IS 1=t 341 | . ‘
Balance the following chemical equations—'

o PR ATRPAR T T

) HNO,+Ca(OH), — Ca(NO,), +H,0

i) NaOH + H,SO, - Na,SO,+H,0

What are the advantages and disadvantages of using a

solar cooker? Are there places where solar cookers
would have limited utility ? '

-cﬁawwiﬁmwwﬁwﬁﬁw«mw

SR IO GTIS peil§ IR A ?

What are the components of transport system in highly
organized plants? What is the role of transpiration in
&anspoxting water and minerals in plants ?

T 41719 Tfewq #ifiee wam Sepg 7 e Sfer oz
Al BIF e 7 AR v afeE i
2

2+1=3 -

142=3
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20. What is the chemical name of baking Soda? How is it
produced? Give chemical equation. 1+1+1=3
QR woR-aFRR T 2 W @R s
2?2 IS TP 7=t |

21. Write one equation each for decomposition reaction
Wwhere energy is supplied in the form of heat, lightand
electricity? 1+1+1=3
OIF-(ART wiE [Rge *ferm e ﬁmw—f{ BT
IO NI 79|

22. An object is placed at a distance of 10cm from a convex
mirror of focal length 15cm. Find the position and nature
of the image? ' 3
15cm TG Oeet AAR @47 #[1 10cm [IO
T <0l TR 75| AR Swgm o 2 Fef w4 |

Or / «igal
A concave lens has focal length of 15cm. At what
~ distance should the object from the lens be placed so

L

that it forms an image at 10cm from the Iens" What is
the nature of the images ? 3
TREH (FR G499 TR 0P 15cm @WWW |
3 YIS TRE «bj SR AR IS ©F o1 10cm FAge
TR AR Wbl 5o IR e aAfoRwm agfe
| 53
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